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783375 =3 x5 x5 xHx 2089 x1

oooo
2P + 1 = 15(68068n + 52225)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=3916910000
P = 510510n + 391691

2P 4+ 1 = 2(510510n + 391691) + 1 = 10210201 + 783382 + 1 = 1021020n + 783383
0000010210200 20 2003,5,7,11,13,17000000 1000000
783383 = 109 x 7187 x 1
0000 10210200000000000000
2P + 1 = 510510m + 272873

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=3916930000
P = 510510n + 391693

2P + 1 =2(510510n + 391693) + 1 = 1021020n + 783386 + 1 = 1021020n + 783387
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783387 =3 x 3 x 11 x41 x 193 x 1

good
2P + 1 = 33(30940n + 23739)

obooboooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=3917090000
P = 510510n + 391709

2P + 1 = 2(510510n + 391709) 4+ 1 = 10210201 + 783418 + 1 = 10210201 + 783419
0000010210200 20 2003,5,7,11,13,17000000 10000000

783419 = 7 x 13 x 8609 x 1

oooo
2P +1 =91(11220n + 8609)

goooooboOo9lboobooOooUobOobOobooUOoOoUoOoOoDOobDOoOoDOobDOobobOoboOoboo
good

Q=3917110000
P = 5105100 + 391711

2P + 1 =2(510510n + 391711) + 1 = 1021020n + 783422 + 1 = 1021020n + 783423
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

783423 = 3 x 3 x 61 x 1427 x 1

oooo
2P + 1 = 3(340340n + 261141)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=3917170000
P = 5105100 + 391717

2P 4+ 1 =2(510510n + 391717) + 1 = 1021020n + 783434 + 1 = 1021020n + 783435

0000010210200 20 2003,5,7,11,13,17000000 10000000

783435 =3 x 5 x 29 x 1801 x 1

oooo
2P + 1 = 15(68068n + 52229)
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Q=3917230000
P = 510510n + 391723

2P + 1 = 2(510510n + 391723) 4+ 1 = 10210201 + 783446 + 1 = 10210200 + 783447
0000010210200 20 2003,5,7,11,13,17000000 10000000

783447 =3 x 7 x 37307 x 1

oooo
2P + 1 = 21(48620n + 37307)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=13917330000
P = 510510n + 391733

2P 4+ 1 = 2(510510n + 391733) + 1 = 10210200 + 783466 + 1 = 10210200 + 783467
0000010210200 20 2003,5,7,11,13,17000000 1000000

783467 = 89 x 8803 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 272957

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3917390000
P = 510510n + 391739

2P 4+ 1 =2(510510n + 391739) + 1 = 1021020n + 783478 + 1 = 1021020n + 783479

0000010210200 20 2003,5,7,11,13,17000000 10000000

783479 = 17 x 17 x 2711 x 1

oooo
2P + 1 = 17(60060n + 46087)
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good

Q=13917470000
P = 510510n + 391747

2P 4+ 1 =2(510510n + 391747) + 1 = 1021020n + 783494 + 1 = 1021020n + 783495
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0000010210200 20 2003,5,7,11,13,17000000 10000000

783495 =3 x 3 x5 x 23 x 757 x 1

oooo
2P + 1 = 15(68068n + 52233)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=2391751 0000
P = 5105100 + 391751

2P + 1 = 2(510510n + 391751) 4+ 1 = 10210201 + 783502 + 1 = 10210201 + 783503
0000010210200 20 2003,5,7,11,13,17000000 10000000

783503 =7 x 19 x 43 x 137 x 1

oooo
2P + 1 = 7(145860n + 111929)

goooooobogvyoooooooOobOoOooOOoO0obOo0obOOoOobDOoOobDOODOoOobDboUODboOoO
goo

Q=3917530000
P = 510510n + 391753

2P 4+ 1 =2(510510n + 391753) + 1 = 10210201 + 783506 + 1 = 1021020n + 783507
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

783507 = 3 x 261169 x 1

oooo
2P + 1 = 3(340340n + 261169)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q=2391757 0000
P = 5105100 + 391757

2P 4+ 1 =2(510510n + 391757) + 1 = 1021020n + 783514 + 1 = 1021020n + 783515

0000010210200 20 2003,5,7,11,13,17000000 10000000

783515 =5 x 156703 x 1

oooo
2P + 1 = 5(204204n + 156703)
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goo

Q=3917590000
P = 510510n + 391759

2P + 1 = 2(510510n + 391759) 4+ 1 = 10210201 + 783518 + 1 = 10210201 + 783519
0000010210200 20 2003,5,7,11,13,17000000 10000000

783519 =3 x 11 x 23743 x 1

oooo
2P + 1 = 33(30940n + 23743)

0000bO0o0oo33b0ooooobooobooooboooDbDOo0ob0o0obUoDoOooDbOooODbOoo
good

Q=13917630000
P = 510510n + 391763

2P 4+ 1 = 2(510510n + 391763) + 1 = 10210200 + 783526 + 1 = 10210200 + 783527
0000010210200 20 2003,5,7,11,13,17000000 1000000

783527 = 783527 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 273017

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3917710000
P = 5105100 + 391771

2P 4+ 1 =2(510510n + 391771) + 1 = 10210201 + 783542 + 1 = 10210201 + 783543

0000010210200 20 2003,5,7,11,13,17000000 10000000

783543 =3 x 139 x 1879 x 1

oooo
2P + 1 = 3(340340n + 261181)
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goo

Q=23917770000
P = 510510n + 391777

2P 4+ 1 =2(510510n + 391777) + 1 = 1021020n + 783554 + 1 = 1021020n + 783555
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783555 =3 x5 x 52237 x 1

oooo
2P + 1 = 15(68068n + 52237)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=391789 0000
P = 510510n + 391789

2P + 1 = 2(510510n + 391789) 4+ 1 = 10210201 + 783578 + 1 = 10210201 + 783579
0000010210200 20 2003,5,7,11,13,17000000 10000000

783579 =3 x 19 x 59 x 233 x 1

oooo
2P + 1 = 3(340340n + 261193)

gooooooo3sooooooooboo0oOoOobOo0obDOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=3917930000
P = 510510n + 391793

2P 4+ 1 =2(510510n + 391793) + 1 = 10210201 + 783586 + 1 = 1021020n + 783587
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

783587 =7 x 23 x 31 x 157 x 1

oooo
2P 4+ 1 = 7(145860n + 111941)

o0o0ooooOovyoUooOoO0oOoO0OOo0OOo0DOOU0DODO00ODOOo0DOOUODOODOOUODOOOd
goo

Q=1391801 0000
P = 5105100 + 391801

2P 4+ 1 =2(510510n + 391801) + 1 = 1021020n + 783602 + 1 = 1021020n + 783603

0000010210200 20 2003,5,7,11,13,17000000 10000000

783603 =3 x 3 x 83 x 1049 x 1

oooo
2P + 1 = 3(340340n + 261201)
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Q=3918130000
P = 510510n + 391813

2P + 1 =2(510510n + 391813) + 1 = 1021020n + 783626 + 1 = 1021020n + 783627

0000010210200 20 2003,5,7,11,13,17000000 10000000

783627 =3 x 13 x 71 x 283 x 1

good
2P + 1 = 39(26180n + 20093)

000000003 oooooooooboooobooobo0oboobobooooDboOooDbOon
good

Q=23918170000
P = 510510n + 391817

2P 4+ 1 =2(510510n + 391817) + 1 = 1021020n + 783634 + 1 = 10210201 + 783635

0000010210200 20 2003,5,7,11,13,17000000 10000000

783635 = 5 x 156727 x 1

oooo
2P + 1 = 5(204204n + 156727)

goooooo0ds0U0b0O0bOOU0ODbOOU0OO0ODOU0UDOUODOUODOUODOODOUODOO
goo

Q=3918190000
P = 510510n + 391819

2P + 1 = 2(510510n + 391819) 4+ 1 = 10210201 + 783638 + 1 = 10210201 + 783639
0000010210200 20 2003,5,7,11,13,17000000 10000000

783639 = 3 x 3 x 87071 x 1

oooo
2P + 1 = 3(340340n + 261213)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=3918230000
P = 510510n + 391823
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2P + 1 =2(510510n + 391823) + 1 = 1021020n + 783646 + 1 = 1021020n + 783647

0000010210200 20 2003,5,7,11,13,17000000 1000000

783647 = 783647 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 273137

gboboobogobogoboboobboobooobooooboon

Q=3918200000
P = 5105100 + 391829

2P + 1 = 2(510510n + 391829) 4 1 = 10210201 + 783658 + 1 = 10210201 + 783659
0000010210200 20 2003,5,7,11,13,17000000 1000000

783659 = 101 x 7759 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 273149

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3918370000
P = 510510n + 391837

2P 4+ 1 =2(510510n + 391837) + 1 = 1021020n + 783674 + 1 = 1021020n + 783675
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

783675 =3 x 3 x3Xx3x3x3xHxHhHx43x1

oooOo
2P + 1 = 15(68068n + 52245)

o00o0o0O0ooolbooobooooooooooooobOOooboobooDoooDboOooDbOoo
good

Q=3918410000
P = 5105100 + 391841

2P + 1 =2(510510n + 391841) + 1 = 1021020n + 783682 + 1 = 10210201 + 783683

0000010210200 20 2003,5,7,11,13,17000000 10000000

783683 = 17 x 46099 x 1
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2P + 1 = 17(60060n + 46099)

0000000010000 00D000ODO0O0O0OOO0ODODOO0O0DOO0OO0ODbOODODO0OODODOODODOD
good

Q=3918430000
P = 5105100 + 391843

2P + 1 = 2(510510n + 391843) + 1 = 1021020n + 783686 + 1 = 1021020n + 783687
0000010210200 20 2003,5,7,11,13,17000000 10000000

783687 = 3 x 261229 x 1

oooo
2P + 1 = 3(340340n + 261229)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=13918470000
P = 510510n + 391847

2P + 1 = 2(510510n + 391847) + 1 = 10210201 + 783694 + 1 = 10210201 + 783695
0000010210200 20 2003,5,7,11,13,17000000 10000000

783695 = 5 x 11 x 14249 x 1

oooo
2P + 1 = 55(18564n + 14249)

oboooooos bbb booobooboobooboboooobOoobOoo
good

Q=3918490000
P = 5105100 + 391849

2P 4+ 1 =2(510510n + 391849) + 1 = 1021020n + 783698 + 1 = 10210201 + 783699

oo000010210200 20 2003,5,7,11,13,17000000 10000000

783699 = 3 X 7 X 67 x 557 x 1

oooo
2P + 1 = 21(48620n + 37319)

go0odoOoboOo210000000ob0bOobooO0oo0oo0oDOobDOo0oDOobDOobobOoboOooog
gogo
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Q=13918610000
P = 510510n + 391861

2P + 1 = 2(510510n + 391861) 4 1 = 10210201 + 783722 + 1 = 10210201 + 783723
0000010210200 20 2003,5,7,11,13,17000000 10000000

783723 = 3 x 261241 x 1

oooo
2P + 1 = 3(340340n + 261241)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3918710000
P = 510510n + 391871

2P + 1 = 2(510510n + 391871) 4+ 1 = 10210201 + 783742 + 1 = 10210201 + 783743
0000010210200 20 2003,5,7,11,13,17000000 1000000

783743 = 783743 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 273233

gboboobooobooboboobboobboobooobooo

Q=3918730000
P = 510510n + 391873

2P + 1 =2(510510n + 391873) + 1 = 1021020n + 783746 + 1 = 1021020n + 783747

0000010210200 20 2003,5,7,11,13,17000000 10000000

783747 = 3 x 3 x 87083 x 1

oooo
2P + 1 = 3(340340n + 261249)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=3918770000
P = 510510n + 391877

2P 4+ 1 =2(510510n + 391877) + 1 = 1021020n + 783754 + 1 = 1021020n + 783755
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0000010210200 20 2003,5,7,11,13,17000000 10000000

783705 =H X 7T X 7T xXTx457 x 1

ooono
2P + 1 = 35(29172n + 22393)

ooooooOoosoooooooooobooooboboooobooooobobooooboOoooDobOn
oooo

Q=3918790000
P = 5105100 + 391879

2P 4+ 1 = 2(510510n + 391879) + 1 = 10210201 4 783758 + 1 = 1021020n + 783759
0000010210200 20 2003,5,7,11,13,17000000 10000000

783759 = 3 x 79 x 3307 x 1

oooo
2P + 1 = 3(340340n + 261253)

goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=13918830000
P = 510510n + 391883

2P + 1 = 2(510510n + 391883) + 1 = 10210201 + 783766 + 1 = 10210201 + 783767
0000010210200 20 2003,5,7,11,13,17000000 1000000
783767 = 783767 x 1
0000 10210200000000000000
2P + 1 = 510510m + 273257

gbooboobooobooboboobboobbooboooboon

Q=391889 0000
P = 5105101 + 391889

2P 4+ 1 =2(510510n + 391889) + 1 = 1021020n + 783778 + 1 = 1021020n + 783779

0000010210200 20 2003,5,7,11,13,17000000 1000000

783779 = 783779 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 273269
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Q=1391891 0000
P = 5105100 + 391891

2P + 1 =2(510510n + 391891) + 1 = 1021020n + 783782 + 1 = 1021020n + 783783

0000010210200 20 2003,5,7,11,13,17000000 10000000

TR37T83 =3 x3 x3xTx11x13x29x1

oooo
2P 4 1 = 3003(340n + 261)

gooopboooso3boobooooooobooooboboooboooooooDoboboooboo
googn

Q=3919030000
P = 510510n + 391903

2P + 1 =2(510510n + 391903) + 1 = 10210201 + 783806 + 1 = 1021020n + 783807

0000010210200 20 2003,5,7,11,13,17000000 10000000

783807 =3 x 19 x 13751 x 1

oooo
2P + 1 = 3(340340n + 261269)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3919070000
P = 5105101 + 391907

2P 4+ 1 =2(510510n + 391907) 4+ 1 = 1021020n + 783814 + 1 = 1021020n + 783815

0000010210200 20 2003,5,7,11,13,17000000 10000000

783815 =5 x 59 x 2657 x 1

oooo
2P + 1 = 5(204204n + 156763)

ooooooooboso0ooooobobooooooobooooooobooOobobooooobbBbOoOn
ooo

Q=3919130000
P = 510510n + 391913

2P + 1 =2(510510n + 391913) + 1 = 10210201 + 783826 + 1 = 1021020n + 783827
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0000010210200 20 2003,5,7,11,13,17000000 10000000

783827 =11 x 71257 x 1

oooo
2P + 1 =11(92820n + 71257)

oboobooobolnooooboooooboboooboobOo0obooboboooobOoobOoo
goog

Q=3919210000
P = 510510n + 391921

2P + 1 = 2(510510n + 391921) 4+ 1 = 10210201 + 783842 + 1 = 10210201 + 783843
0000010210200 20 2003,5,7,11,13,17000000 10000000

783843 = 3 x 261281 x 1

ooono
2P + 1 = 3(340340n + 261281)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3919270000
P = 5105101 + 391927

2P +1 = 2(510510n 4 391927) + 1 = 1021020n + 783854 + 1 = 1021020n + 783855
0000010210200 20 2003,5,7,11,13,17000000 10000000

783855 =3 x 3 x5 x 17419 x 1

oooo
2P + 1 = 15(68068n + 52257)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3919310000
P = 510510n + 391931

2P 4+ 1 =2(510510n + 391931) + 1 = 1021020n + 783862 + 1 = 10210201 + 783863

0000010210200 20 2003,5,7,11,13,17000000 1000000

783863 = 23 x 173 x 197 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 273353
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Q=13919330000
P = 510510n + 391933

2P + 1 =2(510510n + 391933) + 1 = 1021020n + 783866 + 1 = 1021020n + 783867

0000010210200 20 2003,5,7,11,13,17000000 10000000

783867 =3 x 7 x 163 x 229 x 1

oooo
2P + 1 = 21(48620n + 37327)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3919390000
P = 510510n + 391939

2P 4+ 1 =2(510510n + 391939) + 1 = 1021020n + 783878 + 1 = 10210201 + 783879

0000010210200 20 2003,5,7,11,13,17000000 10000000

783879 = 3 x 41 x 6373 x 1

oooo
2P + 1 = 3(340340n + 261293)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=23919430000
P = 510510n + 391943

2P 4+ 1 =2(510510n + 391943) + 1 = 10210201 + 783886 + 1 = 1021020n + 783887

0000010210200 20 2003,5,7,11,13,17000000 10000000

783887 = 13 x 17 x 3547 x 1

oooo
2P + 1 = 221(4620n + 3547)

oooooooo2210000000000000000O0DODOOOOOOOODODOODOOO0OO
oooo

Q=23919490000
P = 5105101 + 391949

2P 4+ 1 =2(510510n + 391949) + 1 = 10210201 + 783898 + 1 = 10210201 + 783899
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783899 = 29 x 27031 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 273389
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Q=3919570000
P = 510510n + 391957

2P + 1 = 2(510510n + 391957) 4+ 1 = 10210201 + 783914 + 1 = 10210201 + 783915
0000010210200 20 2003,5,7,11,13,17000000 10000000

783915 =3 x 5 x 11 x 4751 x 1

0ooo
2P + 1 = 165(6188n + 4751)

oboobobgoolesoboooooooboobobobooboobooobOobUobUoboobooooo
good

Q=1391961 0000
P = 510510n + 391961

2P + 1 = 2(510510n + 391961) 4+ 1 = 10210201 + 783922 + 1 = 10210201 + 783923
0000010210200 20 2003,5,7,11,13,17000000 10000000

783923 =7 x 53 x 2113 x 1

oooo
2P + 1 = 7(145860n + 111989)

ooooooobogovyoooooooOoobooOoooOoboOOoDbOooDOoobbOOoDbOOoDbboOoDboO
goo

Q=3919670000
P = 5105101 + 391967

2P + 1 =2(510510n + 391967) + 1 = 1021020n + 783934 + 1 = 10210201 + 783935

0000010210200 20 2003,5,7,11,13,17000000 10000000

783935 =5 x 83 x 1889 x 1

oooo
2P + 1 = 5(204204n + 156787)
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Q=3919730000
P = 510510n + 391973

2P + 1 = 2(510510n + 391973) + 1 = 10210201 + 783946 + 1 = 10210200 + 783947
0000010210200 20 2003,5,7,11,13,17000000 1000000

783947 = 73 x 10739 x 1

o000 102102000000000000000

2P +1 = 510510m + 273437

gbooboobooobooboboobboobboooboooboon

Q=13919810000
P = 510510n + 391981

2P 4+ 1 =2(510510n + 391981) + 1 = 1021020n + 783962 + 1 = 1021020n + 783963

0000010210200 20 2003,5,7,11,13,17000000 10000000

783963 = 3 x 3 x 87107 x 1

ogooo
2P + 1 = 3(340340n + 261321)

gooooooOo3sooboooooUoboUooU0bOoUbDOoUbOoUobObOUDbDOUobDbOUDbOoO
goo

Q=3919870000
P = 5105101 + 391987

2P 4+ 1 =2(510510n + 391987) + 1 = 1021020n + 783974 + 1 = 1021020n + 783975

0000010210200 20 2003,5,7,11,13,17000000 10000000

783975 =3 x 5 x 5 x 10453 x 1

oooo
2P + 1 = 15(68068n + 52265)
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Q=13919910000
P = 510510n + 391991

2P 4+ 1 =2(510510n + 391991) + 1 = 10210201 + 783982 + 1 = 10210201 + 783983
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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785307 = 3 x 67 x 3907 x 1

oooo
2P + 1 = 3(340340n + 261769)
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785319 = 3 x 261773 x 1

oooo
2P + 1 = 3(340340n + 261773)
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P = 510510n + 392671

2P 4+ 1 =2(510510n + 392671) + 1 = 10210201 + 785342 + 1 = 10210201 + 785343
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2P 4+ 1 = 2(510510n + 392681) 4+ 1 = 10210201 4 785362 + 1 = 1021020n + 785363
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oooooooobso0oooooboboooooooboboboooooobooOobobooooobobOBbOoOn
ooo

Q=3926990000
P = 5105101 + 392699
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P = 510510n + 392713
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P = 510510n + 392741

2P 4+ 1 =2(510510n + 392741) + 1 = 1021020n + 785482 + 1 = 1021020n + 785483
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Ooooo 10210200 000000000000

2P +1 = 510510m + 274973
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P = 510510n + 392747

2P + 1 = 2(510510n + 392747) + 1 = 10210201 + 785494 + 1 = 10210201 + 785495
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P = 510510n + 392753
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785507 = 601 x 1307 x 1
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2P + 1 = 2(510510n + 392761) 4+ 1 = 10210201 + 785522 + 1 = 10210201 + 785523
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oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

785535 = 3 x 5 x 52369 x 1
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P = 510510n + 392773

2P + 1 = 2(510510n + 392773) 4+ 1 = 10210201 + 785546 + 1 = 10210201 + 785547
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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good
2P + 1 = 3(340340n + 261853)
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785567 = 43 x 18269 x 1
0000 10210200000000000000
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2P + 1 = 2(510510n + 392797) 4+ 1 = 10210201 + 785594 + 1 = 10210201 + 785595
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 392807
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2P 4+ 1 =2(510510n + 392851) + 1 = 1021020n + 785702 + 1 = 1021020n + 785703
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P = 510510n + 392867

2P + 1 = 2(510510n + 392867) + 1 = 10210201 + 785734 + 1 = 10210201 + 785735
0000010210200 20 2003,5,7,11,13,17000000 10000000

785735 =5 x 167 x 941 x 1

oooo
2P + 1 = 5(204204n + 157147)
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2P + 1 = 2(510510n + 396551) 4+ 1 = 10210201 + 793102 + 1 = 10210201 + 793103
0000010210200 20 2003,5,7,11,13,17000000 1000000

793103 = 793103 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 282593

gboboobooobooboboobboobboobooobooo

Q=3965530000
P = 5105100 + 396553
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793107 =3 x 3 X 7 x 12589 x 1

oooo
2P + 1 = 21(48620n + 37767)

obooboooobo2100gbobo0o0oooobooob0oo0b0oobooboboooobOoobOoo
good

Q=3965630000
P = 510510n + 396563
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P = 5105101 + 396587
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Q=3967070000
P = 510510n + 396707

2P 4+ 1 = 2(510510n + 396707) + 1 = 10210200 + 793414 + 1 = 10210200 + 793415
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P = 510510n + 396787
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